
Answer on Question #74092, Physics / Mechanics | Relativity | 

a wheel has a moment of inertia of 2.0 kgm2 about its axis of rotation. It is rotating 

with an angular speed of 50rpm. Calculate the torque that can stop the wheel in one 

minute. Also calculate work done by the torque in this time.  

Answer: 

We have: 

moment of inertia𝐼 = 2.0𝑘𝑔 ⋅ 𝑚2; 

angular velocity𝜔 = 50𝑟𝑝𝑚 =
50⋅2𝜋
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; 

time𝑡 = 1𝑚 = 60𝑠. 

The angular momentum of the wheel is 𝐿 = 𝐼𝜔 =
10𝜋
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The torgue is 𝜏 =
𝛥𝐿
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=
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=

𝜋
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Work done by the torque in this time is 

𝑊 =
𝐼𝜔2

2
=
25𝜋2

9
𝐽. 
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